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   CTM    

 :   

 =    ÷  

CTM=CT/Q                                    

 +  =   

                     :CTM=CVM+CFM   

- Cout Fixe Moyen     
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Cm CVM CFM CTM CV Cf Ct Q 
36 36 0 
36 45 1 
36 53 2 
36 60 3 
36 66 4 
36 71 5 
36 78 6 
36 87 7 
36 99 8 
36 117 9 

  

  

Cm CVM CFM CTM CV Cf Ct Q 
0 0 0 0 0 36 36 0 
9 9 36 45 9 36 45 1 
8 8,5 18 26,5 17 36 53 2 
7 8 12 20 24 36 60 3 
6 7,5 9 16,5 30 36 66 4 
5 7 7,2 14,2 35 36 71 5 
7 7 6 13 42 36 78 6 
9 7,28 5,14 12,42 51 36 87 7 

12 7,87 4,5 12,37 63 36 99 8 
18 9 4 13 81 36 117 9 
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                                           L’K= r -   L =0 ……..(2)                                                     
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1 -  

2 -  
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4 -  

5 -  

  

1-                 Q=0  =>    CF=16 

2-           Q+62Q =VC =>  CF  -CV=CT     

3-         CTM=Q+6+16/Q 

4 -                Cm= 2Q+6 
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3-  et Profits de l’Entreprise Revenus   
3-1-  de l’Entreprise Revenus 

      

 :     

-  Revenu Total:  

  ) RT(

 :  

                    Q  ×P  =RT   

  P  Q   

  

   nQ n+…….+P3Q 3+P2Q 2+ P1Q 1RT=P 
-  (RM)    Revenu Moyen :

  ) RM (:   

 =  ÷  

Q                             ÷RT  =RM   

-   )Rm( Revnu marginal  :  

 Rm 
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3-2-   Profit du producteur   

   ) :

 =-  (  
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0  60  00  -  80  -  -80  

1  55  55  55  90  10  -35  

2  50  100  45  100  10  0  

3  45  135  35  110  10  25  

4  40  160  25  120  10  40  

5  35  175  15  135  15  45  

6  30  180  5  160  25  20  

  

5 45 
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